
Kottbekeu Ckyrobe

geep. Crys C je rotbercor ako

(x , y eC)/kfe (0,1)) -x + (1- 3) ye C .

Kotbekurt : His Kottbekcott :

·
I

(1-6)x +by
· ⑳ ⑳

x y

⑳
(1-xx+by

·

geop .

· MENN
,
J1, . . .,
In -IR

,

Set- - + n
= 1 = Anx + + ... andn je afte

Kortuttayuga anaka x..,
In

I

· MEN
,
11

, ...,
In ER

,
31t+In =1

,
11

, -In O = Jiht...And

je pottbekur Komutteriga Tarake , ...,
Du

tab C je kottbekcast ( Claka Kottbekur
us C ipaga

corrstoga Tara

geep. A-uyet ,
Kottbekcitu Omortal of A je :

↑ Pecek CBUX KOHBEKCH4X
& KOJ4 CAAPie A

Be KOHBEKCHe KOMUHamuje
Conv (A) * facat =

*Tayaka 43 A

=> 10 +-. +usu/MEIN ,
Diz0

, xitA)
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1 .

Here je SCRM i Y : IRM-IR" agento ipecutabaible

(i. Y()* ACC + 6
,
A-Mnxm(R)

,
6 tR", +RU) .

Lokasai ga
batte Y(com(s)) = com (Y(S)

-

percente I : Shacasters Hajifal ga Muttapta ispeamakasta mybajy
Kottbekcor

, mig go bary : 5 rotbekcalt Als) potbeklak

Here
cy 1 , %2 E A/S) n A - [0

, 1]. Taga mutage 34
,
-S-

.reug

y = Asl
, ye

= Ax
,
w je

(1-3)y - + >yz = (1- 6) Ab + DAD =A(+ 36(2) E A(S)
-S jep je
Kotekat

=> Als) je Kottbercant

Y jour importampa AlS) 39 bekinop 6 ,

am ino ste fine
Ho Rostbercoc = u acpato ipeanaba rybajy RobbekcHoan.
com (s) je rothercars Y(COMIS) je rotbecart

Y(S) < YenCS)) is com (Y(S)) = 4 (COMCS))
Koltbekcalt

E : Here je ye Y(CON(S)). Hage inocinoge x + con(S) ing. - = 4161.

< Ecor(S) 704, ...PptS ,
77i>O ing. Int-- - +>p = 1

u x = 1104 + ... + XRDCu -

Caga je

y = Y(x) = 4) 3164+ --- + RD() = A(3104, +.. + xkD() + 6 =

= 81 ADC1 +- + ARACU + (11 + - - + >r) S =

-

9

= %1 (Ax4 +b) + ... + ar(Ax +b) =

= S- 4(01) + ... Onl(x) -> Com (4(5).
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R
2. Hea my S1

,
S29 R

.
Lokasaim com (S1 + S2) = com (S1) +our/S2) .

pare SetS, [x +xe) at Se
,
x - Sch

2 : Octcon /S-+ S2) => Jdi30 ,
J1t+]n =1

,
aieSi

,
bitSz

= In (An +bos) +- +alautlen)=JiaiSili E Com (51) + com (52)
i= 1 i =1

- -

com (S1) on (S2)

2 : Econv(S1)
, ye com (S2)

=Ediai
,

di = 1
,
di40

i= 1

y= Mili , Mi
= 1

, Mia

(etepanto je xex ,y ,
a

ysmero n=max&m is
n gorghum re Hyuna- bi = 030 is m

, Mi
= 0 30ik)

Apneumo x + bj = Sia + + m)bi
1

= Si (ai +bj) E cor (51e
-

si + 32

xty=ten) 62 + Milei = Mi(i) Ecom (conr (5+ e
1 con(sc +S2)

am com (cam (S1 +S2)) = com (S1+S2)
,
i Kotorsto

xty ecom (S1 +S2).
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3
.

Aro je SCR" Kotbercast
, gamasai com (s) = S.

permettre Chakamo lar SE Com1S)
,

in Moasyjmo =.

Have je xecon(s) -x = Edici
, Edi=1 ,

Diso
,
eits

i=1

Hokasyjmo ga jex= filieS Megykyrom it n.

i=1

Fasa unyykyigs : M = 2
, 31 + 12 = 1 = 62 = 1- 61

x
=11041 +320(z = 3134 + (1-61))(2 -S (no geop . Kotberchoch)

rig . Letoesa : Heka inteptebe batte 30 de opojebe marke of n

ung . Kopak : iokastumo go rubpebe bath n 39 n (n >3)

-101 +.. +Anx = (1-1n) (oct ... Anone 3 + In x - S
*
-
-S To U .x

.

4. Here je xofIRP u CCR
&

Rostbekcalt . Lokasam go je

cour) 30 4004) = [ 36 + 11-3k/ < + C
,
at [0, 1)] =: A

peavelbe Mprnciano , Skye A be cammage of cleuce gysth Koje cajagy
No ca markana us C :

· Lo

.
· & A·

on :
C -erca ca chuke

com /203003) < A :

Heka je (ecom (20(33). Maga je = 30% + 1164 +...man
, ige

oh, ...,
Pt)

,
1530

,
Sot--- + ]n = 1

.

10 do = 1 =) = E A W

2000 # 1 => x = 1000 + (1-30) bli
-

!!
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Apuermmo = =1
,

a y

Caga us Sakynyjeno EA.

A I com (20 [x0)) :

con (20303) je kottbekcort
,

is 3a clarks ol
,ytconu/Cupcy) , A + /0, 1)

leashe Ax+ (1-1)y
-> cam([u[D]). Leyugauto,

30 x + C
,

Je [01]

waro 106 + (1-6)xE(nv(Cu96))
, my A <cour (CUD0]).

5. Heke je CCIRP sambopet Ky 3a kojn last

(Wa , 6 tC) C
.

Losasame ga je C Kottbekcent .

peeibe Truemano : At je peguta gytte a.

Here je 9
,
6 tC

,

x + [0
, 1]. Hokazyjemo 69 + (1-6)6-C.

Umamo go AGBEC ,
am i - Eatb + C

, AB . . .

Tettepanto,
a + (1-)6 - C

,
REIN

,
0 = k = 2

Proprespons tes (An)MEN in
. g . b cher In Dra u

go je him In = 1. Hoyipe geopthmemo Kyle X:

Xo : = [0 , 1] 1
O E 7 E

j &
i ·· · ·

X : = E
[0

, 2] ,
at [0

, 2]

i
Xu

·

[E
,

1]
,

+e (2
,
1] ·i

Xi = [x , y]
[x

, ] ,
J +[x),

Xi +1
= S [3 , y) ,

+-I
:
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Here je an := max Xn . Hage tim In
= 1 u us gefetrgiga

Hesa (In) bugueo go
(UMEN) In a + (1 -bn)6 -C .

Kako je C saidhopet , atge
3a + (1- 6)b = him(1ma + (1 -3n)6) E C.

geep. Cky KCRR" je Kotyc a inerector y
O ano sa clako xeK,

↓ > 0 batte 3x5K
.

Hip
n N N N

· > * > . > · >

KOHYC
,

KOHYC
, Huje KOHYC

, Huje Huje KOH3C,

KOHBEKC9H KOHBEKCGH KOHBEKCGH KOHBEKC9H

geep. Kostyc c inementor y
a f /R je reportant mottyca la itementor

y 0.

N

Hip .

1 -----

. = (1,
1)

is

geep . Katycth amoinar cryia
S je cone (5) : = 1 K

ScK

K-Kotyc

grep . Hosnumber omoran Kyra S je

pos(S) := [desc +... + Laxn/neN ,
Gix, O

,
xit S) .
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6. Hake i StRK

(a) pos (5) = come (cour(s)) ;

(8) pos(S) 1 aff()) = conv (S) .

perebe (a) : <Epos(S) = x=* Lisli ,
Li 30

,
xitS. Maye

x = (det +b). he
di E cone (conv(s))

--

Y -

on(s)
2 : Quinego Com(s) < Pos(S). Maroge , pos (3) je roltye jep
(10) J. Lic = Shilli -> Pos 9.

↑ 2i30 , its

Kako je cone (cm(s)) Arguab Kotys Kajn Cagpotte cour(s), wo

je come (cour(s) < pos(s) .

(O) 2 : Ornivegto leath jep conv (s) < pos(S) a con(s) < aff(S) .

2 : Haka je xepos(s)eaff(S) .
Us x-pos(s) mege go jo

= Lixi
,
di 0

,
DES

.

=1

90 = Li =1 = xECONV(S) N
i= 1

20Li #1 : Hake jo y:
hisi (ipumeum y t offse

Koko x
,yeaff(S) ,

wo + (1-,) y - aff (5),ae

di : Lixi + diei = 0 Kaff(3)
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Hara je SCR u B : = B(0,1) [12 jeguetmeta nama la mention y
0

.

int 3 : = 3 x-S/(73 >0) B = S4 -

yupactocin CKyia S
MONTA MONJMPeTAUKa E
ca yeHTOM yx

ces := ( 5 +3B) - Zambopebe China
bel S : = c S /intS -

-pattage cryta S

relintS : = (xeS/(70) (x+ 3 B)1 aff(S) = S) -penault
Jayespaupa

relled S : = d(S) /relint(S) - perantulate crya S

ipattuga CKyra S

Hip .

R2
A

E .

intS = %
.

relints=,
&

S =

. .

7 bed S =

. relled =

&

&
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